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The figures in the margin indicate
Sfull marks for the questions.

Answer either in English or in Assamese.
1. Answer the following by choosing the correct
option : 1x8=8
wg e 3R Oferig Frarerg Ter e

(a¢) Human Resource Management
emphasises

R FAW ARBIETIR, TR FE
(i) Development of people

NPT TAfS A
(ii) Punishment of pebple
iz *ife

Contd.



(i) Adoption of people _ (c) Training process is

T A =] A e ol (T
(iv) None of the above ‘ (1) Sh(:;% Term
: 39
ST «oie
R s (ii) Medium Term
(b) Basic managerial functions of Human S
Resource Management are (i) Long Term
S 2 ﬁﬁﬁmﬁmﬁﬁvﬁww oo |
25 | : ~ (iv) None of the above
() Planning, 6rganising lstafﬁng : @9[FF YIS =T
SRR 37 . ; (d) Traditional method of performance
' , RO, T 1Y Bz ‘ appraisal includes |
(i) Planning, organising and co- (TR oo S PRI ﬂﬁ]ﬁ@%ﬁﬂmﬁ
ordinating : GEl | '
ARl 7e : ‘ (i) Confidential report
(lll) Planning, Organising, dire'cting and . (u} Paired Compariso-n method
controlling @S] R w s
AT, A, Roef s el . (iii) Free form or easy method
(iv) None of the above & = 31 &) oS
@oe Ble wEy (iv) All of the above
G5[q9 DIGI(PLD
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(e) ____is considered as a strategic aétivity-
T e R 3 s v =@ |
() Recruitment |
T
(i) Planning
gissen)
(i) Productivity
TeATI Tl -
(iv) All of the above
ST SIGIRe5!
(f/ Placement occurs after—
SETS TR (SRR s F3fe =3 2
(i) Recruitment
e
(1) Selection
BT
(i) Orientation
ISR
(iv) Wage determination

TGN Fiiel
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(g) Basis of job evaluation is:
Job evaluation ¥ fSf€ (z(g 3
(i) Job design (S fTwiz)
(i) Job analysis (&< GETI2bE)
(iii) Job ranking (&9 @[®)
(iv) All of the above (€@ SIGIEHH)

(h) ‘The Factories Act’ was brought into
effect in the year :

PR 2T P (ZA] T2 (AR S
(;i) 1947 (5584) i
(i) 1948 (s558v)
(iti) 1950 (55¢o0)
(iv) 1954 (>5¢8)

2. Answer the following questions very briefly :
(any six) 2%x6=12

oeTe Al ePTRE oS SIS Bl ol ¢ (R
27 N

() Give the concept of Human Resource
Management. :

TR T ARGIET Q=est |
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(i) What is Downsizing ? 3. Write short answers to the following
e ) i B questions : (any four) : 5x4=20
L FCHIE 2P bYCe el &1 ¢ (Ricsieart o1f<on)
Bk DSiachpiacement. () What are the essentials of a good
(Z5CTER Jigesl Al | selection policy ? -
(iv) What is Halo Effect ? T g AT ARIFOPTR 52
: 33 ' (ii). Describe the various types of fringe
(T T A 2 benefits.
(v) What is Training ? Rifen aorE e @R REw 3@ = |
aifeiFel Sic {52 (iii) Write the concept of Human Capital.
12 o
(vi) Write two importance of work-life ST SR AISEITCOT Tt
balance. | (iv) »Ex‘plain the concept of redeployment.
Work-life balance-3 W5l &3g &0 | 7S eI Q9eieh qzene =i
) R o b s et Do i (v) State the processes of outsourcing.
e i e e Outsourcing 3 A& 7R &4 |
_. ] : (vi}' Describe briefly the different external
(viii) What is employee layoffs ? sources of recruitment.
I layoffs e {52 eere [fen eeEs ARsue™ [ &
(ix) What is industrial peace ? (vii) What is social security ? Explain.
S wifs et e USRI o T Sl
' _ ) (viii) Describe the importance of training in
(x) What is mental health ?  an organisation.
O A e 2 <5t FRole AR eTY IR B
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4. Answer the following questions : (any two)
: 10x2=20
FRIe R Bt ol ¢ (Rizeier zor)
(i) State the role of Human Resource
Manager. Explain the various emerging

challenges of Human Resource
Management.

S T ARG S 2| S oM
ARGIEIR TN (29t RiSw erongimmz fi |

(i) What do you understand by induction ?
State the various objectives of
induction. _
Induction I & I&? Induction= R[few

SrEIPTIR. fol |

(tii) Discuss the different off-the-job training
methods of training. |

FAZT AT® e 91 alfirmag GfeT
AT STIZ. G 41 |

(iv) What is employee counselling ? What
are the modern methods of performance
appraisal ? Explain. :

IR -t i e il e
Sl Ao R 39 <o |

(v) Discuss the Employees’ safety provisions
under The Factories Act, 1948,

PR BT v58vF e TR HFIT
fafen Ruiepn s <=1 | -
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